=il

Three Rod Cylinder

_ K]

1 $RESAHE - HEE - FrEa
2. fEABIEEE

3. RI#HEI5

4. g
5. RBBKEE N
6. fifEA
W ETEE KR
TRC M 12 B50 SR 1
=EhET Hi2 RELAE 1732 REFEZS Y =
M: B EE#EY 12 : 912 PHERERS 11&
L : g 4 EdREy 16 : 916 SR :[EE 2 21E
20:920
25:925
32:932 AL-07R/N/R
40 : 40
50 : 450
63 :963
WIEIREE LR AR IR A2 BEP3-181
- M-ehERSE (B BEE - B EEEEHES)
- L-shEER R tEh A - EESREKEHEE)
| BERCES
REARE 12 ¢ 16 ¢ 20 ¢ 40 ¢ 50 ¢ 63
B & R ~T M5xP0.8 1/4"
£ B e [ 8 2 R
1E& 5 K
BIERBHE 1.5 ~ 9.5 kgf/cm?
mARBRSD 10 kgficm?
#5 A
KEME
i 8
RIBERE 0Cc ~60C
EEHEEMM/F 100~500

AR FEARREHAR -

BR~TE
c1. c2
4-H3 |
o D1 Y  4c3
y 1
EPNE — ]
Q{ re
-7, |
o| T x| 2 +- /J/_ 2-P 11 @
(]
-~ S %0 "
@) T\ (&) |
oY o - H \
N X c|S
o H1 E1l _J»_E N
R G1 R G3_| | B1+5 % =2 B2 | B2
A+17%2 (S) |
bX w7 L1 2-P
# O\ 6X
e 51— ;
S — - -
LT —
777777 XEB 7
(B : mm)
= c2 D1
RifE A = = Ee C1 3osTiT 31STLLE . 30STLLF 31STLLE
612 42 29 13 58 5 20 40 M4i% 38 3L, 75 EIM5X0.8Px105% 15 25
$16 46 33 15 64 5 24 44 M4 7% 58 31, % EM5x0.8Px 1058 17 27
$20 53 37 18 83 17 24 44 M57% 8831, % EM6x1.0Px 1258 29 39
25 535 375 21 93 17 24 44 M57% 58 31, % EM6x1.0Px 1258 29 39
32 595 375 24 112 21 24 48 M6 B 3L, %5 EM8x1.25Px163% 33 45
640 66 44 27 120 22 24 48 M6 3 3L, 25 EIM8x1.25Px 1638 34 46
50 72 44 32 148 24 24 48 M83% 3 3L, %5 EM10x1.5Px 203 36 48
¢ 63 77 49 39 162 24 28 52 M8 7% BB 3,75 @M 10x1.5Px20;% 38 50
@4@E D2 E1 E2 E3 F1 F2 F3 GI G2 G3 H1 H2 H3
$12 23 10 8 18 9 50 M4x0.7Px 103 22 5 7 14 48 M4x0.7P
$16 24 105 85 17 11 56 M5x0.8Px 12 25 62 7 16 54 M5x0.8P
$20 28 115 9 25 12 72 M5x0.8Px 13 30 8 8 18 70 M5x0.8P
$25 34 115 10 28 15 82 M6x1.0Px15:% 38 91 9 26 78 M6x1P
$32 42 12 11 32 17 98 M8x1.25Px20:% 44 110 10 30 96 M8x1.25P
640 50 15 11 395 20 106 M8x1.25PXx20:% 44 118 10 30 104 M8x1.25P
#50 66 15 12 47 23 130 M10x1.5Px22:% 60 146 12 40 130 M10x1.5P
$63 80 155 135 58 29 142 M10x1.5PX225% 70 158 12 50 130 M10x1.5P
PR S (B M#EkEM) S (g 1EhEL)
wEgE J K K K L1 13 7 Q i X' 30STLIF 31STLLE 30STILF 31STLLE
612 6 41 6 8 10 8.5 M5 1 2 3 0 13 0 13
$16 6 46 8 10 105 105 M5 1 25 3 0 19 0 19
$20 8 54 10 12 115 115 G1/8 1 3 3 0 27 0 27
625 7 64 12 16 115 14 G1/8 1 2 4 0 28.5 0 28.5
$32 12 78 16 20 12 165 G1/8 1 2 4 18.5 42.5 5.5 42.5
640 12 86 16 20 15 18 G1/8 1 5 4 9 50 13.5 50
#50 16 110 20 25 15 215 G1/4 1 2 5 16.5 55.5 19.5 55.5
63 16 124 20 25 155 28 G1/4 2 4 5 1.5 50.5 14.5 50.5

d40IN || XON

nor

79

H

NZYS || NOYS



BEA4AMER

TRCL#R % %% B

TRCM 5 BghR

i 2% %38
g
=
B iR
=+ &
Hig

IR A REREE RS
®=E
AE

3 T4 B 7
i % 208 I8

LN RERA

— —
N Do ©WoONOoOORWN-

=il

Three Rod Cylinder

14 15 12 02 17 05 10 01 19 20 18

e ———

03 06 13 04 21 04 08 16 09 07

14 15 12 17 05 23 02 01 19 20 18

e ]

03 06 13 11 22 21 04 08 16 09 07

ME
mEE
mEE
Hee
mF fik
FR iR £R/ & 75
S e
mEE
mEE
mEE
& 7% 38
NBR
NBR

HE HwIRK %8 ME
1 13 HHEENE % % 9
1 14 BENABEH 54
1 15 MEE R 92 4k Y
1 16 EERORE NBR
2 17 a7 A I8 % % 9
1 18 mERME WER
1 19 EFEEER NBR
1 20 T W 1L
1 21 EREERA NBR

24) 22 & 8 8 Y
2 23 B 29 i 7 B Bet
1

HiTER
% a
TRCL12 / TRCM12
TRCL16 / TRCM16
TRCL20 / TRCM20
TRCL25 / TRCM25
TRCL32 / TRCM32
TRCL40 / TRCM40

TRCL50/ TRCM50
TRCL63 / TRCM63

W & 7E % 4k %2 f

® 6 & o o

HE

[ N U= G \\, IR Uy |\ [ G

N

2(4)
2(4)

20

N
(3]

30

40

Z#E7E(mm)

50
[

75

1

o
o

125

150

HMTELEEE

fffffffffff =

175

HIFREITIERR

200

—

8o

d40IN || XON

Nor

29

H

NZYS || NOYS



	頁面 1
	頁面 2



